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Trigonometri
Pythagoras sats:

c2 = a2 + b2

Areasatsen:
T =

1

2
ab sinC

Sinussatsen:
sinA

a
=

sinB

b
=

sinC

c

Cosinussatsen:
c2 = a2 + b2 − 2ab cosC

Vektorer
Längden av en vektor i koordinatform (ON-bas):

v = (x, y), |v| =
√
x2 + y2 (i 2 dimensioner)

v = (x, y, z), |v| =
√

x2 + y2 + z2 (i 3 dimensioner)

Skalärprodukt:
a • b = |a||b| cos v

Skalärprodukt i koordinatform (ON-bas):

(x1, y1) • (x2, y2) = x1x2 + y1y2 (i 2 dimensioner)

(x1, y1, z1) • (x2, y2, z2) = x1x2 + y1y2 + z1z2 (i 3 dimensioner)

Sfärisk trigonometri
Sfäriska sinussatsen:

sinA

sin a
=

sinB

sin b
=

sinC

sin c

Sfäriska cosinussatsen:
cos c = cos a cos b+ sin a sin b cosC

Om C = 90◦ : cos c = cos a cos b (Pythagoras sats)


